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Note: Unless otherwise required in a question, answers should be written either in Sanskrit or in Hindi or
in English.
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If a child is born at 02.25 P.M. at afternoon and time of the sunrise is 06 hrs.15 minutes, find
the Ishtakala in ghati-palas.

AYAT/OR
FTQ GTeher T4 00-06°-47-46” =T U 15-48 TT &1 hl S T 56°-2881 T TIT T T HHIA HITST |

Calculate the true longitude of Mercury. If Mercury (Panktistha) is 00-06°-47°-46,
Calana 15-48 Plus) and direct Mercury’s daily motion is 56’-28.
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Calculate the true longitude of Moon if birth asterism of a native is Kritika, Bhayata is10 ghatis 40
Palas and bhabhoga is 56 ghatis 57palas.

JTYAT/OR
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Explain the finding of Lagna (Ascendant) by conceiving your own example.
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Calculate the Ayanamsa of 11th March 2023, the Sun’s longitude on 11th March at 05:30
AM.is 10-26°-17-59".
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Explain the finding of Dashama-Lagna by conceiving your own example.

4. TS 10 R T fafer R wom it | 7
Explain the calculation method of “Id&hTet’
JUAT/OR
fowT I TR 1 3eTeXT ST SHEATST |
Explain ‘feFam TR UBmm™’ with example.
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Elucidate ‘ws=em=fi=ss’ with your own example.
UAT/OR
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If ascendant is 03°-13-18’-41", the tenth ascendant is 00-07°-54°-36” then explain
the’Sasandhidwadasabhava’.
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Explain the method of calculating “Yogini-Dasha’ by conceiving your own example.
YAT/OR
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Explain the making of Dreshkan-Kundali by conceiving your own example.
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Write short notes on any four of the following one being in Sanskrit:

(i) e e (Ashtottari Dasha)
(i) TR Fvee! (Hora-Kundali)
(iii) a9 331 (Varsh Pravesh)

(iv) ¥ &« (Harsh Bal)

v) =6 AT (Nakt Yog)

(vi) ¥ o= (Muntha Vichar)
(vil) = (Chalana)



